Homework 4.7 – Mid-Segment Theorem Day 1 – Honors			Name: ____________________________________

3. The following figure shows  with side lengths , , and  Segment  is constructed to be parallel to  and to originate at point D, the midpoint of . In the spaces below, enter the lengths for the requested segments.
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4. Find the length of the following if points M, N, and O are the midpoints of the sides.

			

			

			




5.   Given that there is a mid-segment, solve for  and solve for .
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[bookmark: _GoBack][image: ]6.   Use the diagram of  where D, E, and F are the midpoints of the sides.
      Facts:   ,   ,  ,  

Solve for :				Solve for :
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Find the length of the following:
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Find the length of the following:
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Use the diagram of A4BC where D, E, and F are the midpoints of the sides.

L o

(=)

FE|
3. If AB = 14, then EF =
4. If AE = 8, then DF =

S. If DE = 6, then BC = A




